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Question |Ecologically, environment means.....
AT Telet JITaUT FEUTS.....
A Dealing with a specific part of the earth
gediadier fafrse smamelt foarfea
B Surrounding conditions
gaadrerdr gRIE
C Environment
qTaROT
D Both A and B.
31 3nfor § geer
Answer D
Marks 2
Id 2
Question | From the original French word Environ, the word........ came into vogue in English
Environ a1 #g e AGIIREe SIS ... 34T s, Jdafeld STell
A Environment
g7
B Atmosphere
ardraior
C Aquifer
STelTaIuT
D Soil cover
FHaTalur
Answer A
Marks 2
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Question | To whom can the surrounding situation be?

Taitadrerd! aRfEr Homear FeHia 3y R ?

A Natural elements
faafafda gcs

B Man-made components
AafAfdd gca

C Inorganic and organic components
3olfas g oifde  gcsh

D All of the above
alter 9 @9

Answer D

Marks 2

Id 4

Question | There are two main types of environment

TR0 HEI:......... 310 &l TR IS

A The natural environment
Aafite gatawoT

B Cultural environment
HiEhicih TITaRT

C Man-made
AAafA AT

D Both A and B.
37 30T § gleer

Answer D

Marks 2
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Question | What are the natural elements?
Aafe Tgeh HoTa?

A Soil, Water
el STl

B Atmosphere, Animals
ardraxor, grofy

C Plants, Microorganisms
FAETT, FEHSIT

D All of the above
alter ¥4 |9

Answer D

Marks 2

Id 6

Question | What are the cultural elements?
el Teeh HIUTA?

A Population Colonies, economic factors
ARHEAT qaTEdT, 3NMAF geah

B Social and political factors
AHITSS T TSTRT g

C Religious and cultural factors
T T AiEpideh T

D All of the above
alter ¥4 |9

Answer D

Marks 2
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Question |Environmentalists have raised fundamental doubts as to whether the Earth ....... will exist
in the near future.
JEATEIL..... FAoiehed] SfasTehlold HTEccdld JTEer fohaT HATET ATaeret
qATERUTAS A ATeT HeAs{dd 2T TAHATOT STelT 318

A Biosphere
SiarayoT

B Atmosphere
ardrayur

C Soil cover
FHaTalur

D Aquifer
STeITdUT

Answer A

Marks 2

Id 8

Question | If the ecosystem fluctuates for any reason, it naturally has the ability to achieve....... at a
certain limit.
TREEIT VT HROMH IR SedTd afyrs miewdd fed:. ... T & st
&HAT 7.

A Rebalance

B Balance
Hdo

C Destruction
fa=ATer

D Decline
m

Answer A

Marks 2
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Question |Ecology is the systematic scientific and comprehensive study of the effects of ....... and
........ elements in the environment on human life.
GATERUTA. ... T........ TCHITIAT HATA SaATaIel FIaidT JegaeiR s g
Hehfold IR FgUTSl JITGRUIART 1.

A Natural
S gTeTeh

B Cultural
Arepfaw

C Rebalancing

D Both A and B.
37 [OT § Slegr

Answer D

Marks 2

Id 10

Question |According to ........ , "Ecology is the scientific study of the interrelationships of different
ecosystems."
........ AT A, “GATGRURMET Fgolel fafay aRETar gumel wEaRaseTdre
HJ el deard AT HeaeT".

A Curl Ritter
Fol NeX

B Bernard Nebel
I8 Adel

C John Turk
ST <

D Davis
e

Answer B

Marks 2
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Question |Ecology as a separate subject, Became prevalent around .......
UITIRORIET ¥ 9T FU 3. 4. ....... =T GARTE Ifeld STel.
A 1960
§R¢Eo
B 1950
§R4o
C 1980
§Q¢o
D 1970
¢Ruo
Answer A
Marks 2
Id 12
Question |According to ......... , "Ecology is the study of the perception of the earth's environment
and the impact of human life on the environment.
......... T A, " GATERURIET 70T gediailel GITaRuMd 3iehelel d Herd!
SfiaeTar qATeRoTaR HUIRT JHE I 31918 g,
A Davis
sfeeq
B John Turk
ST Toh
C Curl Ritter
Fol ReX
D Bernard Nebel
18 Adel
Answer B
Marks 2
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Question | Humanitarian intervention in the environment has created terrible problems like ............
TRl ATAGTEAT el FEARTITHG. ... JAREAT AT AT
fAToT STeAT 3R,

A Pollution, civilization,
YGNOT, AR,

B Energy loss, deforestation,
FoleTd, getdrs,

C Drought, ozone depletion
3y, JSAsTT

D All of the above
alter 4 |9

Answer D

Marks 2

Id 14

Question | The scientific study of environmental resources in terms of ............ analysis and human
interest is called ecology. "
JITEROTATS ATIAGIGIT.............. faeevoear 3nfoT #AEEr Raar =i Felear
ARAT 3T JATAROTMTEA 31 Fg0Trd. "

A Conservation
YT

B Management
SIqEYTe]

C Planning
IGRIECIEY

D All of the above
alter ¥4 |9

Answer D

Marks
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Question | Along with the sciences of physics, geography, geology, chemistry, biology, ........ these
social sciences are also closely related to ecology.
All of the above #fifcieh, 8failer, 87aTey, THIES, g AT fAEeTRIEAEIE,........ ar
ATSF ArEArargl gATaRorenEnel afass g Jar.
A Anthropology
HATATIANE
B Psychology
HATAHR/MTET
C History, Archeology
sfagrE, Widca
D alter 4 |9
Answer D
Marks 2
Id 16
Question |Ecology has ......... nature.
TATIROTATEAT........ IR 38
A Interdisciplinary
kIS RICCRINIECIR
B Faculty
[ECRIRIE R
C Independent
aas
D External
e
Answer A
Marks 2
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Question | The nature of ecology is .........
TGV ¥GET......... ki
A Faculty
[EERIIECIR)
B Dynamic
SEIE BRI
C Independent
adT
D External
IR
Answer B
Marks 2
Id 18
Question | By reacting with various elements of the environment, ............ or institutions are formed.
gaTaRuTdrer fafayr aewear smaraara fsrar afafear gize............ ar gedr
dIR gidrd.
A Feedback
gfafear
B Environmental morphology
eV 3Mepiceer
C Process
gfshar
D Bond
ST
Answer B
Marks 2
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Question |Environmental factors ....... Human environmental interactions tend to be narrower.
TGO Oeah....... IS AT YATAROT TARATY HhroT gl STEar.
A Dynamic
IATIAT
B Oscillating
ACIDEIE
C Strong
CREIGH
D None of the above
e YT AT
Answer A
Marks 2
Id 20
Question |Environmental .......... is complicated by natural factors or by human intervention.
Moving
qITaROTANe. ... Aafdier T fhar A gEasu Sfeer 8.
A Dynamic
AT
B Oscillating
ACIDEIC]
C Complexity
HehroTar
D None of the above arel T ATET
Answer C
Marks 2
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Question | Due to the destruction of green vegetation, natural cycles like ........ are deteriorating.
fRear aeTeadar AT g 3T, .......... JERET fA@eras (natural cycles)
fSgsa arerelr 3med.

A Carb cycle
EaCEED

B Nitrogen cycle
GEECED

C Water cycle
Sleldsh

D All of the above
alter 4 |9

Answer D

Marks 2

Id 22

Question |Scientific treatment of various ecosystems is done to find out exactly what is causing the
breakdown in the cycle of nature...........
eIl foers s ®emHS gid e § AuvIrarsr fafay aRwwE
e RAfdadr........... el ST

A In ecology
TATIROTMTEAT

B In history
sfaraa

C In geography
G RICIC)

D In biology
SHARMEATT

Answer A

Marks 2
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Question | Every life system on earth is stable if there is balance in the following.
YR Gedsh SHaEEdT, Wrellel AT Holel 3eard X 3.
A Inflow and outflow of nutrients.
qiveh gedrdl 37Tdeh SiTdeh.
B Incoming and outgoing energy.
faaAToT grom=ar ot 3mas-sias.
C The ratio between the origin and degradation of living things.
D All of the above
alter Uhr wa
Answer D
Marks 2
Id 24
Question | Problems such as soil erosion, .......... are rooted in geological factors.
SRR &,.......... JHREAT FAE HS $PNAAEAT TeHALT Jehdlat
3.
A Population explosion
ARl THIT
B Pollution
LN
C Deforestation
STt TN
D All of the above
alter 4 |9
Answer D
Marks 2
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Question | The implementation of human judgment is intended in ecology to be decided on the basis
of e
Alerar Aokl siAeesmanht 2. a7 fAFYaY Sael A0 GO
HAYT 3TE.
A Right and wrong
A9 g AT
B Policy-element
Sdl-ded
C Cosmopolitanism
ReadyeT
D All of the above
alter 4 |9
Answer D
Marks 2
Id 26
Question |Environmental, .............. principles need to be incorporated in the education system.
RIgforaeda aAferuriasTe, .............. T dedrdr ATAL a0l IR 3778,
A Awareness
SITITRR™eh AT
B Balance
elel
C Conservation
qadeT
D All of the above
alter 4 |9
Answer D
Marks 2
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Question

According to environmentalists, what are the methods of studying ecology?

TR UTdSATedT A TATARUTATEATSAT ST HFATHICHAT e ?

A Ecological Approach or Ecosystem Approach
B Behavioral Approach
SN SIREND]
C Study method
I gecd
D Both A and B.
37 31701 § Slegr
Answer D
Marks 2
Id 28
Question | The whole earth is an ecosystem. It has human, ........ these elements at work.
HYUT g g1 Ueh URATAUT 3HTg. ATl A, ........ g gca SRR 3gdrd.
A Plants
TATTAT
B Animals
grofr
C Micro-organisms
qeH S
D All of the above
alter 9 @9
Answer D
Marks 2
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Question

The purpose of this method is to understand the consequences of human movement in the
future.

HfaSTHIBIT ATAAT FTerdTeirar I IRUMA gsel AT SIY 8o IT gGeedid

HAYT 3TE.
A Ecological Approach or Ecosystem Approach
B Behavioral Approach
AU FeHd
C Study method
T gEcd
D Both A and B.
37 AHMOT & Glogr
Answer B
Marks 2
Id 30
Question | Regarding human nature, the balance of natural laws is shifting due to ..........
GATERUTAT Jhlaad A, ... 3reaAS fAaafaHrEr e g e,
A Don't worry
fthehIx
B Thoughtless
Jfaamdr
C Indefinite
foremea
D All of the above
alter &hr wa
Answer D
Marks 2
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Question | ....... , Robots are a glimpse of humanization in the environment.
....... , TTATIT FUTS GATARUTAT HITAIHIOTT SToleh 3718,
A Hybrid crops
HhRd Teh
B Synthetic rubber
HEAA TN
C Unconventional energy sources
IIRARSE Forara
D All of the above
alter 9 @9
Answer D
Marks 2
Id 32
Question | ............ Experiments on this are on the way to success in different parts of the world.
............ IR YA SIMAT AT AT JRATEIIIT ATNET 3.
A Solar energy
GRSt
B Wind energy,
ORI
C Geothermal energy
BRI
D All of the above
alter 9 @a
Answer D
Marks 2
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Question

By what factors do living things emerge?

goltar aafaeasy fhar 3ifar @ I 36T HIUTAT gehis! PR STl

3r|dr?
A Organic
Sifaes
B Abiotic
afas
C Physical
sitfas
D Both A and B.
37 [OT § clegr
Answer D
Marks 2
Id 34
Question | Which one of the following is not a gaseous biogeochemical cycle in an ecosystem?
YETThT vl IRAEACST Y SIa-THI Tsh ATeT?
A Carbon cycle
HIA Th
B Phosphorous cycle
HIEHRE Th
C Sulfur cycle
Hethl dsh
D Nitrogen cycle
ARICIST Tsh
Answer B
Marks 2
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Question | Transfer of energy from source of plants through a series of organism is known as......
ShareaT YEeleaR Teaedaiedl FAAHY 3ol FEATTHT..ocee FEUT 3oEe
ST,
A Food web
3o ST
B Energy cycle
ol T
C Food chain
ool AEDN
D Biological system
Sifaeh goTrelr
Answer C
Marks 2
Id 36
Question | The type of ecosystem with the highest productivity......
A& 3culcAaTHAEE Il Yuel=l Jehi......
A Tundra
S2
B Temperate grass
FALAEST ITad
C The desert
giddc
D Tropical rain forest
3SUThfeaH T auTaet
Answer D
Marks 2
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Question

An ecosystem which can be easily damaged but can recovered after some time if
damaging effect stops will be having......

Tsh IREEAT SAH HEST Jhdle I35 Aehd W BleilhReh THIT ATTeATH HIET
HBAR JAYTCT 8IS Aehet......

A High stability and high resilience
3Tg TEUREr 30T 3Tg cafdehd
B High stability and low resilience
3o FEeRar nfor el srafaerdr
C Low stability and low resilience
HHT TERAT 30T AT FTafdendr
D Low stability and high resilience
HAT FFeRar 3nfor 3=a cafRsda
Answer B
Marks 2
Id 38
Question | In ecosystem standing crop refers to.........
oREeer #ed A% d@eel ...
A All the green plants
a9 fexear aaeady
B All the non-living materials
ag fasia a&q
C All living and dead animals
7 a3 ga son
D All the living materials both animals and plants
T golta greal wioft 3nfor aereddr gy
Answer D
Marks 2
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Question | Which ecosystem produce the highest annual net primary productivity?
AT IRTTAT TS a1 Aeaes WafAe 3cucahdr 3curfed aa?

A Tropical evergreen forest
3suThfeatfIT TegRd a«

B Tropical rain forest
3SSUTh et Wi

C Tropical deciduous forest
sl gofardY ae

D Temperate evergreen forest
AT Fergdd ael

Answer B

Marks 2

Id 40

Question | What flows through the ecosystem?
IREEAT ALY FHT qEA?

A Energy
FaAr

B Force
el

C Pressure
ald

D Wind
anT

Answer A

Marks 2
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Question | Total primary production in an ecosystem is known as..........
JATAIUTATST ThoT YrAfAeh 3caieet........... FEUT 3@ ST
A Gross final production
UHUT 3cUicst
B Gross primary production
THUT TAfAS JcdesT
C Gross middle production
ol ALIH 3c4lcsT
D Net primary production
fcas grafAe 3caresT
Answer B
Marks 2
Id 42
Question | Which type of ecosystem accounts for most of the net primary productivity?
fAcdes ITUTAS IcTICATTAT HIVTCAT YhRTIAT TRIATATAT FHATAL 38 ?
A Tropical rain forest
3SUTR T gradrd SiaTel
B Desert
dTsdc
C Tropical evergreen forest
ssuThfeatir TeeRa a
D Oceans
HETHTI
Answer D
Marks 2
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Question | Generally ecosystem consists of how many basic components?
AT TREEAT HLY fohell Heldd Teeh HHATA?
A One
Ush
B Two
G
C Three
iG]
D Four
GIEY
Answer B
Marks 2
Id 44
Question | The three functional components interact with each other to form.......
T FrIfier T SAUITETET UShAGRN Tdle ATUdTd.......
A Environmental succession
TATEROTTET 3eTaciet
B Environmental depression
GATIRONT 3gTeleTdr
C Environmental system
JATGIOT YOIl
D Ecology
ATIROTAEA
Answer C
Marks 2
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Question | The dominant second tropic level in a lake ecosystem is........
R RTINS Jea gd safafaqaa &xX........
A Phytoplankton
9qicy Teldsh
B Zooplankton
q1foT-Celaeh
C Plankton
Coldeh
D Benthos
der ey Sfia
Answer B
Marks 2
Id 46
Question | Consumer for food that feeds on producers are known as.......
3cUICHIT WIIAT SUTAT 3oaATaT A/ ....... Ul JdTell ST,
A Carnivores
HATETERY
B Consumers
dTgch
C Herbivores
QMhTERT
D Producer’s
3cdlceh
Answer C
Marks 2
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Question

The food chain from grass to hawk and again it comes back to grass with the help of
fungi. In the above explain food chain, what is grass?

A o SS9 el WS 0T gl o ReMedT Al ITadary e A,
FUIATOT 3o AW HHASGST HAM, I FUTS HIA?

A Producers
3cqiceh
B Consumers
RIGED
C Decomposers
faeed oM
D Energy source
Far | d
Answer A
Marks 2
Id 48
Question | The process in which green plants and few organisms use sunlight to synthesize nutrients
is known.......
ST gfhdd feXear aeieadt 30T FEr Siia 9Iveh gedid H2olYuT augrars!
GIGRTRATT ITANT FIAT ...
A Chemosynthesis
T AHLAYOT
B Photosynthesis
GRTAH LT
C Food chain
3T HTEA
D Food web
3eoTotTA
Answer B
Marks 2
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Question

The process of making food by certain microbes create energy by some chemical
reactions is known as....

FIET GEHSIIA ool FAquATAT FfhAHS FIET IARATAS HRIHAT TsdTd

A Photosynthesis
JRTAH LT

B Food chain
el AEDN

C Chemosynthesis
THIAHLAYOT

D Retrosynthesis
Lraafad

Answer C

Marks 2

Id 50

Question | The food chain level in autotrophy is.........
EIIAUINUT ALY ool HESN UTADN.......... e

A Primary
FIBIEED

B Secondary
g

C Tertiary
SRIEET

D Quaternary
G

Answer A

Marks 2
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Question | What makes plant produce?

TACIATETST 3G hIUT Hld?

A Plants produce their own food.

FIEIAT A Wied dIN HdId.

B Plants depend on other organisms for food.

TATTAT =TSN S SHdTa 3Hdeleled .

C Plants are decomposers.
3s fages UMY 31ed.
D Plants do not require any energy.

TJATIAIAT JordY TaThdl Td4d.

Answer A

Marks 2
Id 52
Question | The producers within an underwater ecosystem are called as........
qroaTETeltel IRFEAAS IcAGHIeAT............ 3 Fgeo oA
A qed Toldeh
Phytoplankton
B Auto plankton
EI-Celdeh
C Hecto-plankton
gl Toldeh
D Semi plankton
JHT Coraeh
Answer A
Marks 2
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Question | What does a primary consumer eat?
gTAfAe AgH T Trar?
A Plants
EIE
B Decomposers
fages Ao
C Small animals
RGN
D Large animal’s
S grofy
Answer A
Marks 2
Id 54
Question | On what category consumers are classified into?
HIOTIT oAy IgehTd FaftaioT hel SATA?
A Herbivore
QRTERT
B Carnivore
HATETBRY
C Omnivore
qasalr
D Herbivore, carnivore, omnivore and scavenger
QMPTERY, HAAERY, Fadel 3nfor e
Answer D
Marks 2
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Question | To which category ‘Hawk’ can be classified?
HIOTT JANT ‘TP T FIfAIOT hel S AHA?
A Primary consumer
gTITAS Agh
B Secondary consumer
Q¥IH dlen
C Tertiary consumer
Jrae ATEh
D Quaternary consumer
IIY ATED
Answer C
Marks 2
Id 56

Question | To which classification predators are classified?

FIoTcT geffeor gareir geffereor el STA?

A Primary consumer
ITa RS Agh

B Secondary consumer
Q¥IH e

C Tertiary consumer
CRIREHDIRE]

D Tertiary producer

ddige 3cUlceh

(&
Answer C
Marks 2
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Question | What is another name for tertiary consumers?
Jgeh ATgehrd JTOTEN Teh AT T 37872
A Decomposers
fages HoR
B Producers
3cqlceh
C Herbivores
QRTERT
D Apex predator’s
oMY fRreArdr
Answer D
Marks 2
Id 58
Question | How many types of secondary consumers are there?
GTIH ATgehrd fahell TehR 3MEcl?
A One
TUch
B Two
G|
C Three
GiG
D Four
BIEY
Answer B
Marks 2
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Question | What is the food habit of secondary consumers?
qIIA UTgehidl WUATH HaF 0T 377g?
A Feed on primary consumers
UrIfHe ATEhIAT WTATd
B Depends on tertiary consumers
e ATgehIaN sl I
C Produce their own energy
AT TaAE 39T AR adTd
D Eat dead animal’s
Hd 9ol @rard
Answer A
Marks 2
Id 60
Question || the tropic levels fox belongs to...........
3STAAHAT ITTBHTEY PICET .. 3
A Primary producer
WA AT
B Primary consumers
grafAs Igsh
C Secondary producers
GZIH 3cUiceh
D Secondary consumers
QXIH dlen
Answer D
Marks 2
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Question |From where does the decomposer receive energy?
faercerell 3ot dige Awd?
A Producers
3cqiceh
B Consumers
DIGED
C Self-generation
aq: o [Oer
D Organic substrates
afea g
Answer A
Marks 2
Id 62
Question | How many major groups classified in decomposers?
fAaeamed gefihd fhcdl 9q@ 1€ 3Med?
A One
TUch
B Two
G|
C Three
GiG
D Four
BIEY
Answer B
Marks 2
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Question | Which are known as most recognized players in the food chain and energy pyramid?
ool W@ T FlTAART Fefiel AT ATAICT WBbTg FEURA hI0T
@l JATAT?
A Producers
3cqlaeh
B Consumers
RIGED
C Decomposers
fged aoR
D Detritivores
sfedreeRa
Answer C
Marks 2
Id 64
Question | The primary decomposers of most dead plant material are.......
ggeh Hd geeac AHAD JrAfEd fueahd......... e
A Algae
THINT gATTIr
B Bacteria
e
C Fungi
SR8l
D Insects
frs
Answer C
Marks 2
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Question | To which category fungi classified?
IoTeAT Aol MY Fafiehior dhel 3182
A Producers
3cqiceh
B Consumers
DIGED
C Decomposers
fages o
D Insects’
frs
Answer C
Marks 2
Id 66
Question | What are called for an organisms which get energy by eating dead organisms?
A WO WIS 3ol [ABUT=AT S S #7gordra?
A Decomposers
faaes
B Producers
3cqiceh
C Consumers
RIGES
D Herbivores
QMhTEIRY
Answer D
Marks 2
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Question | What is called for an organism that eats both plants and animals?
FAETdr 10T 90T Sleal Wid IdeledT Sidad T FgoTdrd?
A Omnivore
aaaa
B Carnivore
AR
C Decomposers
fagesT Fom
D Herbivore
QRTERT
Answer A
Marks 2
Id 68
Question |Flow of nutrients is.......
qYeh g Jdlg.......
A Unidirectional
Teh G aTfd
B Rectangular
JTIATRAT
C Cyclic
BEIR
D Triangular
Benrofr
Answer C
Marks 2
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Question | Why plants in forests do not make use of all the light energy available to them?
STITATST TIETdl <TTAT 3USTe 3Toell T TehIel 3T I aTald aTTerd?

A Because plants do not require energy
FROT TATTATAT Soll T =Tl
B Because plants are grown only in the winter season

$RUT I Shdd Tearedredl gImATd dledid

C Because of the absence of chlorophyll
eRdGeT AHITHD

D Because sunlight doesn’t fall on the leaves fully

HROT FAYHT JUIIOT UTATe] TS ATer

Answer D

Marks 2
Id 70
Question | gepr IfAMRAFT AL qooar 3oa TR el Tah ol FAAGRA
ga?
A 10%
20%
B 20%
%
C 50%
30%
D 100%
200%
Answer |A
Marks 2
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Question |What is a food chain?
3ol TS FEUTS H1I?
A A long chain made of food
3eITdY dolelell offd TTEad!
B Process of preparing food
3ol dIR HIUIATT gishar
C Food where locked by chain
ARG dieh dhotel 3o
D Pathway that energy and nutrients flow through the ecosystem
FolT 30T qiveh ged IRATATHAYSA drgerd
Answer D
Marks 2
Id 72

Question | Why organisms in food chains are grouped into categories?

3ol @ AT Toliaiam AufiFaed &1 [FHmETr A 38?

A To form community
THEI dIR 0T

B To share the energy
ol ATATRAS HOITATST
C To form trophic levels
Ffafadg arded aIR o
D To get more energy

e FaT fAsduvarard

Answer C

Marks 2
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Question | What role human plays in food chains?
ool AESATHET ATl 1 fAGT HHA?
A Producers
3cdlceh
B Consumers
DIGED
C Humans do not involve in food chains
AU 3ee] TESIHEY TS gid AR
D Decomposers
fages FHoR
Answer B
Marks 2
Id 74
Question | Why do all food chains start with plants?
Y W HES IAETchiol &l & Bl ?
A Because plants are easily grown
$RUT JATIAT gl dredrd
B Because plants are nutritious
HRUT gaEadr GifSes 3mea
C Because plants can produce its own energy
HRUT TATTAT TIT:AT 31T AT FF qhdTd
D Because plants do not require energy
HRUT TATIAIAT Foll T ATST
Answer C
Marks 2
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Question | Which of the following food chain correctly describes the flow of energy in an
ecosystem?
YT IO ool YW FHGROMCATS 31T YaTgrd AT qoied FIA?
A Grass->lion->human
agd-> fHg-> AT
B Cow->grass->lion
IMT-> Iad-> Og
C Grass->goat->human
Iqd-> Fh{l-> HAlAdT
D Leaf->bird->lizard
graA-> qafl-> I3
Answer C
Marks 2
Id 76
Question | If there is a shortage of deer in forest, what tiger might do?
STITATT BTN FHANRAT TSI, dTd BT H& Achel?
A Eat grass leaves
IGd Il WSl
B Die due to starvation
SRS A
C Hunt for other animals
SR oI R
D Fasting until they find deer
gROTETST 39ard e
Answer C
Marks 2
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Question | Which of the following condition is true about food chain?

GrelTeTdehT T 37T ool TS degel T 3HR?

A Provide more energy for next trophic level
Yérd Soilafaamyd ERMEAS! S Sl Jerel ad
B Provides food for succeeding organisms
IET BIOTAT SHAMATST 3ot qRad
C Consume energy from next trophic level
qérd Folafaamd qTddIge 3ol arR
D Do not pass energy to next trophic level

YEIST Fotliafeiay FRET Foll T

Answer B

Marks 2
Id 78
Question | Carrot->rabbit->fox is an example of.........
IMSR-> FHT-> PIGET v o 3GIEI0T Mg
A Food web
3T ST
B Food chain
3T AT
C Food cycle
ool dsh
D Food round
3ot B
Answer B
Marks 2
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Question | Which of the following factor diminishing as food chain proceeds?
el FEA TN & A THAT AT TTHALY 6T gl 31?2
A Pressure
adld
B Energy
Far
C Nutrition
qryoT
D Temperature
GISCIG]
Answer B
Marks 2
Id 80
Question | Which of the following organisms begins marine food chains?
qéleldehl 0T Sfid AENY 3ol WGSBS & HIcAl?
A Phytoplankton
YlcY Toldeh
B Fishes
P21 0]
C Zooplankton
qrofl Celden
D Corals
Ydlad
Answer A
Marks 2
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Question |What is called for the diagram that shows how food chain linked together into more
complex feeding relationship?
HTRATHTST 1T Fgeol SIId, S GEad Sl Herdl G e IcArelcirear
ITERTA Heft Sgelr F1a?
A Food web
ool ST
B Food chain
el AEDN
C Food circle
ool HSA
D Food triangle
3ot TR0
Answer A
Marks 2
Id 82

Question | Which of the following condition is true for food web?

3ol STTAATSN TWTeleldehl HIoTAT 3¢ W 318?

A A food web only follows just one path
Teh 37ol ST Bkl Teh HET 3HTEIOT el
B A food web ends with a producer
3 S RAfFD PatcR 8
C A food web starts with a consumer
3ot SISl Fealc Uehl AGHIHE Bl
D A food web shoes many paths plants and animals connected.

3ooT ST ALY 3Ach 9U gIEIar 30T groft Jigelel 319drd.

Answer D

Marks 2
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Question

Which of the following is the highest trophic level organism in grassland food web?

Greloldhl AT ITadTes 3ot STt Fefiel Fafea 3surerfestia Tax shia 3mg?

A Grass
Irad

B Grasshopper
(A=)

C Lizard
RIRES

D Hawk
afedr Famon

Answer D

Marks 2

Id 84

Question | Who developed ecological pyramids for the first time?
gUAT RTINS FAART o fahfad dhel?

A Charles Newton
R

B Charles Elton
qred Toced

C Charles Babbage
qred Solol

D Charles Darwin
qred 1Tt

Answer B

Marks 2
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Question | Where we can find the inverted pyramids of biomass?
SHEHREIT G HAR IS ATIScel?

A Terrestrial ecosystem
H-IREEAT

B Agquatic ecosystem
STl gREEAT

C Grassland ecosystem
IS TREEAT

D Desert ecosystem
dade aRkaedr

Answer B

Marks 2

Id 86

Question | Which of the following shows the numbers of the producers, herbivores and the
carnivores at their successive trophic levels?
QETGTIhT HIUT 3cdeeh, AMRERT O AEGRI ITTAT shideh FRTalel TE
gfad?

A Food web
3o ST

B Food chain
3o AT

C Pyramid of biomass
SHTHR HART

D Pyramid of numbers

Answer D

Marks 2
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Question |How can we indicate the accurate energy passed at each trophic level?

T AF FATAfdHT FAM IR SFolell 31 3T 10T el a2hg Aheil?

A By the help of pyramid of number

B By the help of pyramid of biomass
SHTHR AART AT Al

C By the help of pyramid of energy

ST HAART AT TR

D By the help of pyramid of food web
3ol A AART TIT AGclel

Answer B

Marks 2

Id 88

Question | What is the significance of the shape of the pyramid of energy?
3T AARTAT 3SR Hged T 3Tg?

A It shows decrease in energy
g ST AT gid AT g2ad
B It shows increase in energy
g 3ol a6 gad
C It shows the direction of energy flow
¢ 3ol Jargrer feem geiad
D It shows the trophic levels

g FoldIAT gIad ead

Answer A

Marks 2
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Question

Which of the following ecological pyramids is the most fundamental?

Grelleldehl HIoTe TIRTEATR! HART el Hels{d 318 ?

A Pyramid of energy
JotaT HART

B Pyramid of numbers

C Pyramid of biomass
STHR HAART

D Pyramid of force
g HART

Answer A

Marks 2

Id 90

Question | How many types of ecological pyramids are there?
qIRTEATART AARTS fohedl YR 3TEA?

A One
TUch

B Two
AGH

C Three
GiG

D Four
BIcY

Answer C

Marks 2
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Question |How many parts are there in the forest ecosystem?
a7 aRETIALY TR HmeT 3R A?
A One
Ush
B Two
aleT
C Three
iG]
D Four
BIcY
Answer B
Marks 2
Id 92
Question | Where we find coniferous forest in India?
HRATCHST AHTAT PRI Tl HIS ITgel?
A Deserts
dTsdc
B River deltas
CHNEEE]
C Grassland
AIATS TS
D Himalaya
IRGIGE]
Answer D
Marks 2
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Question | What is considered as lungs of nature?
fAHa FrEd FgU HIT AT ST ?
A Rock
Yseh
B Sun
T
C Water
qrofr
D Trees
qat
Answer D
Marks 2
Id 94
Question | What is the predominate vegetation in grassland ecosystem?
IS FEA TREEYAT HET TeA€TAl HIOTA?
A Sand
EIy
B Land
STHIT
C Rock
seh
D Grass
Irad
Answer D
Marks 2
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Question | Which of the following ecosystem shows varieties in his vegetation?
qéreehr IoTer IREEAT Fereddiaed fafay ar argaa?
A Aquatic ecosystem
ST gREEern
B Desert ecosystem
digdc qiRaEdm
C Grassland ecosystem
IS TREEAT
D Forest ecosystem
g gREEar
Answer C
Marks 2
Id 96
Question | In which of the following place we can find the cold deserts?
GrelieTdehl HIUTT fSehmoft ffd arsde agse?
A Bangalore
STGE
B Chennai
Fes
C Himalaya
REIGE
D Rajasthan
STETT
Answer C
Marks 2
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Question | What kind of climate we can find in the Thar desert?
YR dTdcTd HTIUT HIUTCAT FhR FaTHTST QMEL Aehcil?
A Cold
us
B Dry
CARES
C Cool
HET
D Moist
3T
Answer B
Marks 2
Id 98
Question |How can desert ecosystems be conserved?
aTacldrel IREFAT Hf TIAIT dhell A3 A ?
A By minimizing the human activity
ATAT fohaThellT HHTT HHAT IeeT
B By pouring water to desert area
digdeld dIofl qRaadreeR
C By deforestation
SETAIAIS e
D By killing organisms
g ATEeT
Answer A
Marks 2
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Question | Which of the following tribe protected trees from several generation in Rajasthan?
STEATATATS IOTAT STATAT 3l UGl ST TI&TUT ol ?
A Bishnoi
ICEGIE]
B Papadi
qrasy
C Korvaniji
HIAUTST
D Gudus
?'ls\ﬂ'
Answer A
Marks 2
Id 100
Question | How many types of aquatic ecosystems are there?
ol aRTEXT fohcdt JhR 3ed?
A One
TUch
B Two
AGH
C Three
GG
D Four
BIcY
Answer B
Marks 2
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Question | Where can we find both running water as well as stagnant water?
drguk groll q8@d f&R arofl § Sl s Aade?
A Marine ecosystems
aerr gRkaer
B Wetlands
3T geRr
C Coral reefs
gdies T
D Freshwater ecosystems
agar gt aRkEer
Answer D
Marks 2
Id 102
Question | Which is the largest ecosystem on Earth?
gedelel Hald HIST IRETAT HI0TT 37772
A Desert
dTsdc
B Forest
Chal
C Grassland
IS T2
D Oceans
HGTHTI
Answer D
Marks 2
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Question | Where can we found coral reefs?
A In pond
REIEIEAE
B In desert
CICEAR]
C In shallow tropical seas
3Yc5 ISUThIETET THHEY
D In dense tropical forest
HeIGIc ISUTRICTtT SaTelTd
Answer C
Marks 2
Id 104
Question | Which of the following is among the world’s most productive ecosystems in terms of
biomass production?
SITHR 3cTTCATSIT JTEdid el Faide 3cdigeh TRAEAIRT Tleilerden
PIUTT Teh 378?
A Pond ecosystems
delarear aRaedr
B Lake ecosystems
e alkaedr
C Brackish water ecosystems
FAI@UION aREET
D River ecosystems
er afikaear
Answer C
Marks 2
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Question | Which is the simplest aquatic ecosystem?
AAHA STol GRATAT HIOTdl 3872
A Pond
aa
B Stream
gdrg
C Lake
TR
D Marine
AERY
Answer A
Marks 2
Id 106
Question | Which ecosystem is known as giant permanent pond?
RIUTAT IRATAAT, FRIA AETH dd FgUIA STl SATA?
A Lake Ecosystem
e giEedr
B Pond ecosystem
dos aRaer
C Seashore ecosystem
g ey aRaear
D Marine ecosystem
R gREEdr
Answer A
Marks 2
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Question |Beach is classified under which ecosystem?
qeOT FUTeaT TREE e wfi 3
A Lake Ecosystem
G akaedr
B Pond ecosystem
dos gREEdT
C Seashore ecosystem
g ey aRaear
D Marine ecosystem
aerr aRkaer
Answer C
Marks 2
Id 108
Question | When did the air pollution on earth happened first time?
gediadiel ary YeNUT JUHT Hhegl FTel?
A When humans started using tools
STegT HAleTdlel HIElel aTRUATH Gl holl
B When humans started using firewood
SIcgT ATAdI=l AIYUT IRV FIATA el
C When humans started using clothes
SIcgT ATAdTl HUS ATRIIAT FEaTd ol
D When humans started using wheels
SicgT ATl dTeh ATRUATH FEATd dhell
Answer B
Marks 2
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Question | Who made the first anti-pollution law?
SUH YeuoT AU #raer defder?
A Martin Luther King
AT oo fohar
B Nelson Mandela
el HI
C Queen Elizabeth
qofy ufersmey
D King Edward -1
fhaT Tsas-1
Answer D
Marks 2
Id 110
Question | Which was the first major disaster of air pollution?
arg geyomEr gfgel AE 3o Aot gl
A New York smog
B London smog
de o
C Paris smog
aRE gF
D Delhi smog
R o
Answer B
Marks 2
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Question | What is the significance of black color moth in Europe during 19th century?
19 =T rcfehlcd JUUHEY hieodT J@MeAT Yad g Hged HTg?

A Indication of evolution
SchidaT dohd

B Indication of soil pollution
AT JGWOTd Hehe

C Indication of mutation
3ARATATS Hohdl

D Indication of air pollution

Ay YGNUI Hehe

Answer D

Marks 2
Id 112
Question | What is the main cause of increase in air pollution in the 20th century?
20 ST AR Y JGTUT ATGUIARN HEF FHROT HT 3Tg?
A Development of the transport system
argcleh IaEdaT AT
B Development of infrastructures
C Development of electricity
faorar s
D Development of water resources
Seragrar faewra
Answer A
Marks 2
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Question | How many primary pollutants are?
forcll gTufAes yower 3mger?

A Three
et

B Five
qrT

C Seven
ard

D Nine
GE)

Answer B

Marks 2

Id 114

Question | What are secondary pollutants?
GTIH TNF I 3Teel?

A Pollutants due to fire
NS TeTH

B Pollutants due to emission
3cHSAHS TG

C Pollutants due to a chemical reaction
A AfARIAS Jeus

D Pollutants due to oxidation
HFHSATHS TG

Answer D

Marks 2
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Question | Which is the colorless, odorless and toxic gas which produced when organic materials
incompletely burn?
o 9T HOTIOT STd AT HIUTAT WIEN, FEE 30T fIwRy arg, aam
gl

A Sulphur oxide
o HTFA1Ss

B Carbon monoxide
FIoe HAlAlFaSs

C Oxygen
siifaraste

D Particulates
Hullg

Answer B

Marks 2

Id 116

Question | Which of the following cause soot in the environment?
TTolTeldeh! SHIUT JTATAIOTAIT STl HRUT 37Tg?
aifeegeled

A Hydrocarbons
HEEEICD]

B Nitrogen oxide
ATIeTSTe 3TFaSs

C Sulphur oxide
o HTFATSS

D Particulates
HUlg

Answer D

Marks 2
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Question | What is smog?
TR FEUTST H1I?
A Mixture of smoke and particulates
TR JNTOT 4T FAsoT
B Mixture of smoke and oxygen
X IOT Jiifeesiera fasor
C Mixture of smoke and fog
g AMOT g AT FAsor
D Mixture of soot and fog
FISTET 3O & A Fsor
Answer C
Marks 2
Id 118
Question | Aerosol + solid particles + liquid particles results in..........
FEAJUR + ©f HUT + gd HOMAT YROTHA....... TEY gl
A Dust
kS
B Mist
At
C Smog
Y
D Smoke
e
Answer C
Marks 2
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Question | Which is responsible for the greatest exposure to carbon dioxide for living organisms?
FoGIATEr e 31T JTFASSTAT TaAlds YT HIUT SR 3Te?
A Hurricanes
EETCICE]
B Soil erosion
A
C Vehicles emission
aigel ool
D Cigarette smoking
f@eme yauE
Answer D
Marks 2
Id 120

Question | How excessive water loss takes place in plants?

TATIAHEY YIOITT AR JhA FH gd?

A Due to soil pollution
ATCAT JeuUTHD
B Due to mutation

ScURATAHD

C Due to air pollution
aryg JeuUTHS

D Due to improper seed
3Ty feaoaraes

Answer C

Marks 2
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Question | What is the reason for reducing the plant growth?
FATIARY a6 AT AT HIROT HIT 3HTR?
A Excessive exposure to sunlight
FAYTRTT 31T
B Excessive exposure to wind
ar=arar 3faks
C Excessive exposure to water pollution
STel SequTET i
D Excessive exposure to air pollution
ar] eI 3
Answer D
Marks 2
Id 122
Question | Which dioxide damages the flower process in plants?
HIOTAT STIHFASS FAETNAEY Polied FfHAH grell digarad?
A Sulphur dioxide
JohY 3 3HTFarss
B Carbon dioxide
FIeT 3T AFASS
C Nitrite dioxide
AICe SRIFESS
D Magnesium dioxide
HIARIHA S3ieass
Answer A
Marks 2
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Question | What is the main reason for ozone depletion?

3NSNeT AT GV FTT FROT FI 3T8?

A Releasing of oxygen
it 3chotel

B Releasing of chemicals
W 3o

C Releasing of CFCs
AuHdT 3caste

D Releasing of nitrogen

ATICIST 3cdole]

Answer C

Marks 2
Id 124
Question | Which of the following component is more dangerous to ozone layer?
ST YATE AT Uk Hh SNFIGTH 3Te?
A CFCs
Hromdr
B Nitrogen
ATICroteT
C Halons
gelled
D Sulphur
TR
Answer C
Marks 2
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Question | Why ozone depletion more over the South Pole?
STEIoT efaTear 3ISieT hell gIoaTd JHAOT 31t 1 37Mg?
A Due to uneven disturbance of CFCs
drondear A e
B Due to extreme weather conditions in the Antarctic atmosphere
37eTiFeeh ardTaRuneed fafavs gamAE=TdS
C Due to cyclonic depression in South Pole
STEIUT ¢d HEY Wehiales ~gIHRIHAD
D Due to extreme pressure
I ~GAHRIHD
Answer B
Marks 2
Id 126
Question | When India did signed the Montreal Protocol?
AllecdeT IR AR TR el dhell?
A 1990
2RR%0
B 1991
9R%¢
C 1992
2R%%
D 1993
¢RR3
Answer C
Marks 2
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Question | What is the main reason for skin cancer?
TIATAT e HEY HROT I 31R?
A Due to mutation
3cURATATHD
B Due to unhealthy lifestyle
IEAELIHRT Shaailel D
C Due to alcohol consumption
HIUIA el
D Due to UV radiations
iReer Aot
Answer D
Marks 2
Id 128
Question | How many fundamental approaches are there to control air pollution?
Ay TENT AT FROATHTST Rl e TEadT 3Mee?
A One
TUch
B Two
G|
C Three
GiG
D Four
BIEY
Answer B
Marks 2
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Question | The two fundamental approaches to control air pollution are.....
A Preventive techniques
gideeen a
B Effluent control
fAeaia fagaor
C Control
IGEELS
D Both A and B
Answer D
Marks 2
Id 130
Question | Which of the following organisms found in human waste that cause water pollution?
AT HAIHET ETTURT 0T Siid oA FGWOT HROMHT 3MTecT?
A Coliform bacteria
EAICLAE GG
B Viruses
fersTog
C Protozoa
EIE K1)
D Parasitic worms
qIetdr Sid
Answer A
Marks 2
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Question | What is the indicator of pollution in water?
qIoATT YU FAF FIT 3Tg?
A Amount of oxygen
JTFaSteTdr AET
B Amount of hydrogen
P ER GBI IE]
C Amount of biological oxygen demand
Sifae 3iffeaste Ao gaAToT
D Amount of nitrogen
ATICISTAdT AT
Answer C
Marks 2
Id 132
Question | Why certain parts of water bodies contain more number of algae?
STl FEYT fAfrse HRIALY AdTer HEIT SAET T IHA?
A Due to favorable environment
3eTohel ATATaRUMHS
B Due to run-off excess fertilizers
SET W 3IATEHS
C Due to lack of fertilizers
GAredT TS
D Due to water pollution
STl UGWUTHS
Answer B
Marks 2
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Question | What are water soluble inorganic chemicals?
grofl Agey 3aifas TR~ HITET 3Med?
A Compounds of pure metals
e e T
B Compounds of non-metals
eI S H
C Compounds of synthetic metals
3 e W
D Compounds of toxic metals
RS e st
Answer D
Marks 2
Id 134
Question | Where we can find water soluble radioactive isotopes?
qruaTd TaRgauR fRunicastt aaeenfaa #is arasdier
A In radioactive reactor
ferconcaet 3ropsreds ALY
B In radioactive coolant
foroncaeft efiders 7L
C In radioactive shield
foncaelt afiRal #Aed
D In radioactive waste
fpTonegeil Fa=amaed
Answer D
Marks 2
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Question | Why thermal pollutlon causing the release of hot water by power plants is dangerous?
3SAT YGWUTHS 35 YehedicdR IRA 90T fAATTGe Glehigraeh &1 37Tg?
A They increase the solubility of oxygen
d JffFaserdr fageaar areadra
B They decrease the solubility of oxygen
d ffeastsrr Agegar HA adrd
C They don’t dissolve oxygen
RIGERIELEGREIGER G
D They dissolve nitrogen
d A¥erSe fatgedrd
Answer B
Marks 2
Id 136
Question |How to minimize the pollution of water due to organic chemicals that released to water
bodies?
STARRAT Hiseledl WoT [HAAHS I0AY TGV HHAT FHl H?
A To remove all the aquatic organisms from the water
STEMeRITe | Sfera] Sfid &higeT crehol
B To purify water manually after released to the water bodies
SR HISeATHAR IIUATT Fad: Y 8ld
C Purify the water before enter the water directly from industries
3CHIMALYST AT STRRAT FdN HIOATYET AThT EEIHOT 0T
D Leave the water bodies without using it
STSITRTATET ara” o &0y
Answer C
Marks 2
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Question |How agricultural management helps in the control of water pollution?

F STAEATTT STel JGuUT =0T hefl Fed Hd?

[

A Use of land management
STHIT STaEATYe] dray

B By increase the water intake

Ao JHTOT dTeds
C By using poor soil consumes less water

TR ATAT I9%aT AT qIoATAT aTaR gl
D By encouraging farmers to use more chemicals

AdFITAT 3Th T ITRUIATH Wicdled hel

Answer D

Marks 2

Id 138

Question | How soil resistance can increase against erosion?

YT fawey AT JidehR HH aTder?

A By maintaining the water inflow
qIoATT 3Tdh TGsT

B By maintaining the physical structure of soil
ATl s e g

C By maintaining the environmental conditions
gaTeRoig IRFE IRgeT

D By increasing the manure given to the plants

SIS feel SUIR Wl aredet

Answer B

Marks 2
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Question | Why ground water monitoring is important in control of water pollution?

STl 9euoT fAafd atoarandy sfsrer fadiaTor Ageard #1 3me?

A To provide more quantity of water
ST AT qrofy gRfaor
B To increase the chemical contains in the water
qrudTd TR {s ATGauATaTS!
C To provide good quality of water
T g 9rofy gor
D To reduce the amount of water supplying from ground water

ST ITUATT qIEST FUATT JATOT HAT 0T

Answer C

Marks 2

Id 140

Question | How are aquatic weeds used in controlling water pollution?

STel 9GNUT {3 FRUATATS! STelld ol &l 3UANET shell SITdl?

A They use as a decorative substances
d HTaér=Ar Yy FEU araldrd
B They use as biological filters
d Sifde fheet #gUT aro’ard
C They use as chemicals
d TR FEO arRdTd
D They used to upgrade wastewater treatment

d @Syl gfshar gurd

Answer D

Marks 2
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Question | In which temperature soil develops slowly?
IV ATIATATT AT §3 8} A 8ld?
A Summer
Jogladl
B Wind
arT
C Rainy
qradTed
D Cold
us
Answer D
Marks 2
Id 142
Question | Under ideal climatic conditions how many cms of soil is developed?
3T e garATATedT IR frdt d.7). A sefaa ga?
A One
TUch
B Two
AGH
C Three
GiG
D Four
BIcY
Answer A
Marks 2
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' What is called for the matured soils which are arranged in a series of zones?
Question | gz Figer Aforha uRuesrd ATHT 17 FgUTara?
Soil zones
A 31_6\" o
Soil layers
B a,é‘ﬁ /W
Soil horizons
¢ e FER
Soil benches
D H‘?\T 3
Answer C
Marks 2
Id 144
Question | Organic agriculture advocates avoiding the use of .........
dfeT At Foo...... AT IR TTB0Y
A Organic manure
dfeT @d
B Stored water
Arddelel grofy
C Modern technologies in harvesting
SIaolt ALY MfAS T
D Chemical fertilizers
TaRAs @d
Answer D
Marks 2
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Question | Where we can find water soluble radioactive isotopes?
T faRgaum) fooicasit gaeeanfaa #1é amasdrer
A In radioactive reactor
ferconcaell 3ropsredy ALY
B In radioactive coolant
fertoncaeft efides #7e
C In radioactive shield
frtonicaeft afRalr Aed
D In radioactive waste
foRtoTIcaelt Foared
Answer D
Marks 2
Id 146
Question | Acid Rain is caused by...... emissions.
3T USE ...... ScHSIATHS Bl
A Sulphur dioxide
JohY 3 3HTFarss
B Nitrogen oxide
ARG FATSS
C Both A and B.
37 3HTOT § clegr
D Carbon dioxide
HIeeT 3T 3TFarss
Answer C
Marks 2
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Question | The adverse effects of acid rain is....
TS qIadr=T Yidsde aRoms. ...
A Causing paint to peel
de Areoary HRoNed
B Corrosion of steel structures
C Killing insects
fhs AROT
D All of the above
alter |q
Answer D
Marks 2
Id 148
Question | ......... and water in the air react together to form carbonic acid.
......... 37fOT gddrer gl thAduor Fefae 3Fd JIR .
A Carbon monoxide
FIo HAlAlFaSs
B Carbon dioxide
HIeT 3T 3TFaTEs
C Carbon
HIeeT
D All of the above
alter @a
Answer B
Marks 2
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Question |In which year was severe acid rain recorded in Scotland?
TPicas AN HIrcAT auf g AT sig STelr?
A 1974
SRuY%
B 1972
g9
C 1994
IRRY
D 1998
¢RR(¢
Answer A
Marks 2
Id 150
Question | This process is functional in removing carbon dioxide from the atmosphere.
dTcTERUTIe el ST JHTFATSS HIgeT IRUATATST 8 FiohaT HRRA 3Te.
A Liahtning
dret
B Deforestation
SeTedls
C Burning of fossil fuels
SIaTRHA ST ST Mg
D Photosynthesis
YRTHTOT
Answer D
Marks 2
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Question | Mostly ozone depletion....
A CFCs
Ao
B Excess CO»
fafRea @z
C Ozone
3
D Excess CO
faRerd @3
Answer A
Marks 2
Id 152
Question | This is not a possible adverse effect of global warming.
STfcieh ATYATAATET 81 HeMed iciehel TROUTH el
A Sea level rise
THg IS dre
B An increase of UVB radiation
sifaeiter foor are
C Retreat of glaciers
RFIE ATER
D Extraordinary weather patterns
faeretor garATe A
Answer B
Marks 2
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Question

Correct descending order of relative contribution of various greenhouse gases to total
global warming is.....

ThUT ST dAAIGHEES fafaer glideye ar=ar |del Qerersrdr s
3R S 3TE.

A Carbon dioxide; methane; CFCs; nitrous oxide

FeeT 31T 3Fass; A, Tuwdl; ey iFass
B Carbon dioxide; methane; nitrous oxide; CFCs

FIA ST AHFass; AAA; ey AFarss; drowndr
C Carbon dioxide; CFCs; nitrous oxide; methane

FeeT 31T 3Fass; MURdT; Aey 3eass,; A
D Carbon dioxide; CFCs; methane; nitrous oxide

FIT ST AHFarss; Auwrdr; AT, Ay FFass
Answer A
Marks 2
Id 154
Question |CFCs are crucial in global warming along with their role in ozone depletion as it.

ST el GIoATAT {fASHE Tolldel aATfHITHET HTHA! Ageaqul e,
A Is known for destroying ozone, which cools the earth

QTR U8 ORI ST 7S¢ FUITHIS HdWel ST
B Blocks ultraviolet-B radiation

3Tecrcgrloe-ar fheuT aRifed Fd
C Absorbs solar radiation

I for eivara
D Absorbs earthshine in 10 micron region

R0 HIshiel FeRITd JLlallel Yehrel Mo
Answer D
Marks 2
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Question | Which of the following is not a major greenhouse gas?
QETeThT HITT HET gRIE g A7
A Ozone
g
B Water vapor
qrogrdr a1t
C Methane
fAda
D Carbon dioxide
HIET ST IFATSS
Answer D
Marks 2
Id 156

Question | Ultraviolet radiations from sunlight cause a reaction producing...

FIATHTRITIRGT 3iiceiier fehuiicaanaes gidfshar fHaTor gia.

A Carbon monoxide

FIo HAlAlFaSs
B Ozone
3T
C Fluorides
FARTSSH
D Sulphur dioxide

v <
oW ST 3TFAISS

Answer B

Marks 2
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Question

Checking of re radiating heat by atmospheric carbon dioxide, dust, methane, ozone is
known as.....

aTTERON Fleel 31T HFdSs, Y, A, 3HShedear 30T Ieidedlel

A Solar effect
IR garg

B Radioactive effect
foroncaeft gsrma

C Ozone layer
3T W

D Greenhouse effect
gRaee aRome

Answer D

Marks 2

Id 158

Question | Which one of the following cause global warming?
QETGTIhT hIUTcAT HRUMHD Teildel dTiaar glcl?

A Carbon dioxide
HIeT 3T 3TFaTEs

B Oxygen
JiTTrastel

C Nitrogen
CIBACC

D Hydrogen
gragrtel

Answer A

Marks 2

80|Page




Id 159
Question | How many percent of carbon dioxide increased in the atmosphere since pre-industrial
times?
A AH-d FHIBIA ATATERONT Hieel S/ 3HiFATes fohell Toreh dTGel 382
A About 10%
AR 2%
B About 20%
FAR 0%
C About 3%
Qfl}lﬁ 30%
D About 40%
AR 8%
Answer C
Marks 2
Id 160
Question | What is the full form of UNFCC with respect to global warming convention?
SAeTfces ATATTaTG JTRIAETar HEHIT JUATHEET o quT §9 1 317872
A United Nations Framework Convention on Climate Change
AT Seolallcl Hgerd USE thdash e
B United Nations Federation Convention on Climate Change
GATHATS Feellidwl JARICS wRed HheeeTd Hedert
C United Nations Framework Center on Climate Change
BATHT Scellallel YIS wRed hHTS eI
D United Nations Federation Center on Climate Change
AT Seelallel TS AH heeele HeX
Answer A
Marks 2
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Question | Who measures the global warming rate?
SaTfde dTIHATIAIG &X T Hlold?

A Astrologers
SIS
B Physicist
st aererETs
C Philosopher
dcd<t
D Climatologist
GATHTARNET A
Answer D
Marks 2
Id 162
Question | Which one of the following result takes place due to global warming?
g@ﬂﬂﬁ PIUTAT Feol SANIeh ATIHTAdIG Has Blc?
A Maintaining steady temperature
e aaA=T TEo
B Changes in the rainfall
9radrtd sicel
C Pleasant environment
S LCCACIRICEE
D Causing less pollution
HHT JGUUT §1F Ahd
Answer B
Marks 2
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Question | Which one of the following cause global warming?
W RIUTAT FRUMHD SAFTAdh ATIHADTEG & ?
A Radiative forcing
R ONICICED]
B Earth gravitation force
gedl IBcd Al
C Oxygen
oSt
D Centripetal force
CIECTACE]
Answer A
Marks
Id 164
Question |How human activity has influenced global warming?
HATTAT ThaTehdld AT d9HATdIe a¥ Sl YHIG JISel 3g?
A Planting more trees
STET SIS oITgor
B By causing changing in gravitational force
T&cdTehYUT el FEelvATd HROT
C By changing the radiative balance governing the Earth
gy af3d RO Scaotereier Hcelel Seefet
D By protecting environment
JATIROM I&T0T el
Answer C
Marks 2
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Question | Which one of the following is the anthropogenic radiative forcing of climate?
GTolloldeh! hIUTY EATHATISCAATSN ATTAT 3cloleteiiel Soled 3 ?
A Aerosols
argeHieret
B Cement
fadAT
C Paper
ldlq
D Glass
I
Answer A
Marks 2
Id 166
Question | Which one of the following land use causes global warming?
Qéleldehl 0T T aTRIHD ST ATIHAG Bld?
A Increase in the fertility of soil
AT goiehdT aread
B Surface reflectance
JSSHIT WRIdcielleh
C Forestation
daATeroT
D Adopting organic farming
dfea o FEeROr
Answer B
Marks 2
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Question | Changes in the composition of the atmosphere is an example of..........
IATARUTAT AT TG & voverennn. T 3EIgI0T 3R,
A Internal forcing
3T Tt
B External forcing
g Solel
C Mid forcing
HET dolol
D Gravitational forcing
cgbcqwbtfm Tolol
Answer B
Marks 2
Id 168
Question | What is the main reason for melting of ice sheets?
ST TR0 fAdavard &I HROT & 3?
A Increase in the oxygen content
siiforastsr aFEefiAed are
B Global warming
ST ATIHTIATE
C Decrease in carbon dioxide content
FleeT 31T FASS AT T
D Noise pollution
el ST
Answer B
Marks 2
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Question | Which one of the following is the effect of global warming?
SR dTaATAdTGdT GROTH JErerdishr SIoTdT 3T8?
A Maintaining sea level
FHETE dTdedl @O
B Proper rainfall
AT 913
C Desertification
TBA IR T
D Afforestation
deATenhor
Answer C
Marks 2
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